For these fill in any missing statements or reasons. e

1.
Given: AB=DE, z/B=<E, and ZA=/D

Prove: AABC=ADBC

Statements | Reasons
1. AB=DE 1. Given
2. 2.Given

3. £A=.D 3.

4, AABC=ADEF 4,

Prove: AABD=ADEF

Statements ons
1, AB=DE 1,
2. 2.
3. 3.
4, 4, §SS
5.

Given: AE bisects BD, zA=,E

D—C B
E
Prove: AABC=AEDC
Statements Reasons
1. £A=/F 1.
2. 2. Given
3. 3. Definition of Bisect
4, /ACB=/DCE 4,
5. AABC=AEDC 5.
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2. Given: PQ=RS, and 2PQS=2£RSQ

R

P S

Prove: AABC=ADBC
Statements | Reasans
1. 1. Given
2. 2. Given
3.Q5=0Q5 3.
4. APQS=ARSQ 4.

4, Given: £L=2£N, LZLOM=2NMO

Prove: ALMO=ANOM

Statements | Reasons

1. 1.

2., 2. Given

3 3. Reflexive Property

4, ALMO=ANOM | 4.

6.
Given: PQ||ST, PR=TR
S
P
R
T
Q
Prove: APQR=ATSR
Statements Reasons
1. PR=TR 1.
2. 2. Given
3.2P=£T 3.
4, £ACB=,DCE 4,
5, 5. ASA




7. Given: LM=NO, and zM=20

M
N
p
L
()]
Prove: AMPL=ANPO
Statements |Reasons
1. LM=NO 1.
2. 2, Given
3. 3.
4, 4, AAS
A PO=ST. OR PR=~TT
Given: PQ=SU, QR=ST, and PR=T
T
Q
S
P R
u
1.
2.
3. .
4. APQR=AUST 4,
11.

Given: C is the midpoint of BE, 2B=/E, and
AB=DE
A D

Prove: AABC=ADEC

Statements [ Reasons
1. £B=¢E 1.

2. AB=DE 2.

3 3. Given

4. 4. Midpoint
5. AABC=ADEC 5.5AS
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3. AABC=ACDA 3.

10. Given: N is the midpoint of MO, LM=0P, and
LN=PN
M N 0

Prove: ALMN=APON

Statements Reasons

1. IM=0P 1. Given

2. IN=PN 2.

3. N is the Midpoint of MO | 3. Given

4, 4. Midpaint
5. 5. 85§

12. Given: QT bisects SP, SP bisects QT

Q S5

P

Prove: AQRP=ASRT

_Statements | Reasons
1. QT bisects SP 1. Given
2. 2. Given
3.QR=TR 3. Definition of Bisect
4. PR=SR 4.
5. 5. Vertical Angles
6. AQRP=ASRT 6.




13 Given: AB=DE , BC=EE and 2B=<E

D F

Prove: AABC=ADEF

15. Given: JK=MN, KL=NO
K

J

L ¢ M
Prove: AJKL=AMNO

)7
Given: £P=4S, 2Q=«T, and QR=TU

T

P R S u

Prove: APQR=ASTU
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IY4 Given: PQTU, £P=£T, and £Q=cU

QL

Prove: APQR=ATUS

W& Given: AB=DF, BC=DE
B E

o=

Prove: AABD=AFDE

“m
=
(w8
2
]
I
T

1.
Given: Z]=sM, JK=MN andzK=sN

K M
0

J i N

Prove: AJKL=AMNO




). Given: C is the midpoint of AE, BA=DE,and @Q  Given: R is the midpoint of PT, 2ZP=/T, and

LA=LE £PRQ=£TRS
B Q S
C
A
P ¥ T
Prove: AABC=AEDC Prove: APQR=ATSR
AV Given: I?KEAN. JR=MN, RL=NO 23  Given: BA||CD ZADB=£CBD
N
B,
] LM 0 A D
Prove: AJKL=AMNO Prove: AABD=ACDB
3% a4-
Given: PQRS is a parallelogram Given: KN bisects JM, @_N
P Q
N
R S J
Prove: ARPS=AQSP Prove: AJKL=AMNL
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